

NEW PARAMETERIZED MOCK THETA FUNCTIONS AND HECKE-TYPE DOUBLE SUMS

LI-JUN HAO AND LIANG-LIANG XU

(Received 20 October, 2023)

Abstract. In this paper we express two new mock theta functions with one parameter as the Appell-Lerch sums using the Bailey mechanism. Meanwhile, we also obtain some Hecke-type double sums for some new q -series. In addition, we establish the relationships between the mock theta functions and the classical sixth and eighth order mock theta functions. Furthermore, we give the Hecke-type double sums for the second order mock theta function $D_5(q)$.

1. Introduction

Throughout this paper, let q denote a complex number with $|q| < 1$. Here and in what follows, we adopt the standard q -series notation [6]. For any positive integer n ,

$$\begin{aligned}(a; q)_0 &:= 1, & (a; q)_n &:= \prod_{k=0}^{n-1} (1 - aq^k), & (a; q)_\infty &:= \prod_{k=0}^{\infty} (1 - aq^k), \\ (a_1, a_2, a_3, \dots, a_m; q)_n &:= (a_1; q)_n (a_2; q)_n (a_3; q)_n \cdots (a_m; q)_n, \\ (a_1, a_2, a_3, \dots, a_m; q)_\infty &:= (a_1; q)_\infty (a_2; q)_\infty (a_3; q)_\infty \cdots (a_m; q)_\infty.\end{aligned}$$

For convenience, we use $(a)_n$ to denote $(a; q)_n$.

The Jacobi's triple product identity can be stated as follows.

$$j(x; q) := (x)_\infty (q/x)_\infty (q)_\infty = \sum_{n=-\infty}^{\infty} (-1)^n q^{\binom{n}{2}} x^n. \quad (1.1)$$

From the definition of $j(x; q)$, we have

$$j(x; q) = j(q/x; q) \quad (1.2)$$

and

$$j(q^n x; q) = (-1)^n q^{-\binom{n}{2}} x^{-n} j(x; q), \quad n \in \mathbb{Z}. \quad (1.3)$$

Let m and a be integers with m positive. Define

$$\begin{aligned}J_{a,m} &:= j(q^a; q^m), & \bar{J}_{a,m} &:= j(-q^a; q^m), \\ J_m &:= \prod_{i \geq 1} (1 - q^{mi}), & \bar{J}_m &:= \prod_{i \geq 1} (1 + q^{mi}), \text{ and} \\ j(b_1, b_2, \dots, b_m; q) &:= j(b_1; q) j(b_2; q) \cdots j(b_m; q).\end{aligned}$$

Mock theta functions have been studied deeply by many scholars. They were introduced by Ramanujan in his last letter to G.H. Hardy on January 12, 1920. In that letter, Ramanujan listed seventeen mock theta functions and divided them into four classes, one class of third order, two of fifth order, and one of seventh order. However, Ramanujan neither rigorously defined a mock theta function nor the order of a mock theta function.

Motivated by Ramanujan's work, mock theta functions have received a great deal of attention as in [1, 17, 18]. Until 2002, it was not known how these functions fit into the theory of modular forms. A new chapter in the study of mock theta functions was opened due to the work of Zwegers [20] and Bringmann and Ono [4, 5]. Hickerson and Mortenson [9] defined Appell-Lerch sums as follows.

Definition 1.1. Let x and z be generic complex numbers with $z \neq 0$, with neither z nor xz an integer power of q . Then

$$m(x, q, z) := \frac{-z}{j(z; q)} \sum_{r=-\infty}^{\infty} \frac{(-1)^r q^{\binom{r+1}{2}} z^r}{1 - q^r x z}.$$

Notice that $m(0, q, z) = 1$.

Following [9], the term “generic” means that the parameters do not cause poles in the Appell-Lerch sums or in the quotients of theta functions.

Specializations of the Appell-Lerch sums are perhaps the most important class of mock theta functions. In other words, for any function $f(z)$, if we can express $f(z)$ as Appell-Lerch sums up to the addition of a weakly holomorphic modular form, then the function $f(z)$ is a mock theta function. Hickerson and Mortenson [9] studied the properties of Appell-Lerch sums and established the representations of mock theta functions in terms of Appell-Lerch sums.

In q -series, the Hecke-type double sum has played an important role and received a lot of attention. It was defined by Hickerson and Mortenson [9].

Definition 1.2. Let $x, y \in \mathbb{C}^*$ and define $sg(r) := 1$ for $r \geq 0$ and $sg(r) := -1$ for $r < 0$. Then

$$f_{a,b,c}(x, y, q) := \sum_{sg(r)=sg(s)} sg(r) (-1)^{r+s} x^r y^s q^{a\binom{r}{2} + b r s + c\binom{s}{2}}.$$

It is clear that $f_{a,b,a}(x, y, q) = f_{a,b,a}(y, x, q)$.

Recently, using Bailey's lemma and Bailey pairs, many scholars established mock theta functions and gave their different forms in the modern sense. We can refer to [7, 8, 13, 14, 15, 16, 19]. Inspired by those works, we present two new Eulerian series and determine their Hecke-type double sum forms and Appell-Lerch sums by applying Bailey pairs.

Define

$$R_1(x, q) := \sum_{n=0}^{\infty} \frac{q^n (-xq)_n (-x^{-1})_n}{(q)_{2n}}, \quad (1.4)$$

$$R_2(x, q) := \sum_{n=0}^{\infty} \frac{xq^{n+1} (-xq)_n (-x^{-1})_n}{(q^2; q^2)_n}. \quad (1.5)$$

Then by means of the Bailey pairs, we can express the above two Eulerian series as Appell-Lerch sums as follows. Based on the modern sense of mock theta functions, we find two new mock theta functions with one parameter.

Theorem 1.3. *We have*

$$\begin{aligned} R_1(x, q) &= \frac{1}{J_1^2} f_{1,2,1}(q, -xq^2, q) \\ &= \frac{j(-xq^2; q)}{J_1^2} m(x^{-2}q^{-1}, q^3, -1) - \frac{qJ_3^3 j(xq; q) j(-xq^5; q^3)}{J_1^2 \bar{J}_{0,3} j(x^{-1}q, -x^2q^4; q^3)}, \end{aligned} \quad (1.6)$$

$$\begin{aligned} R_2(x, q) &= \frac{1}{J_1^2} f_{2,2,1}(q^2, -xq^2, q) \\ &= \frac{xqj(-xq^2; q)}{J_1 J_2} m(1/(x^2q), q^2, -1) - \frac{2J_2^2 j(xq, xq^2; q^2)}{J_1 \bar{J}_{0,1} \bar{J}_{0,2} j(-x^2q^3; q^2)}. \end{aligned} \quad (1.7)$$

The two sixth order mock theta functions appeared in [3] are as follows.

$$\begin{aligned} \phi(q) &:= \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2} (q; q^2)_n}{(-q)_{2n}}, \\ \mu(q) &:= \frac{1}{2} + \frac{1}{2} \sum_{n=0}^{\infty} \frac{(-1)^n q^{n+1} (1+q^n) (q; q^2)_n}{(-q)_{n+1}}. \end{aligned}$$

In 2014, Hickerson and Mortenson [9] provided the Appell-Lerch sums for them.

$$\phi(q) = 2m(q, q^3, -1), \quad (1.8)$$

$$\mu(q) = 2m(q^2, q^6, -1) - \frac{J_{1,2} \bar{J}_{1,3}}{2\bar{J}_{1,4}}. \quad (1.9)$$

Then, we get the following relationships.

Theorem 1.4. *We have*

$$\begin{aligned} R_1(q^{-1}, q) &= \frac{\bar{J}_1^2}{J_1} \phi(q), \\ R_1(q^{-2}, q^2) - \frac{\bar{J}_2^2}{J_2} \mu(q) &= \frac{\bar{J}_2^2 J_{1,2} \bar{J}_{1,3}}{2J_2 \bar{J}_{1,4}}. \end{aligned}$$

Applying the Bailey pairs, we obtain some Hecke-type double sums for the parameterized q -series.

Theorem 1.5. *We have*

$$\sum_{n=0}^{\infty} \frac{q^n (-xq)_n (-x^{-1})_n}{(q)_n} = \frac{1}{(q)_{\infty}^2} \left(f_{6,3,1}(-q^5, -xq^2, q) - qf_{6,3,1}(-q^7, -xq^3, q) \right), \quad (1.10)$$

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{q^n (-xq)_n (-x^{-1})_n}{(q; q^2)_n} &= \\ &= \left(f_{2,2,1}(q, -xq^2, q) + qf_{2,2,1}(q^3, -xq^2, q) \right) \frac{1}{(q; q^2)_{\infty} (q)_{\infty} (1+q)}, \end{aligned} \quad (1.11)$$

$$\sum_{n=0}^{\infty} q^n (-xq)_n (-x^{-1})_n = \frac{1}{(q)_{\infty}} f_{3,2,1}(q^3, -xq^2, q), \quad (1.12)$$

$$\sum_{n=0}^{\infty} \frac{q^n (-xq)_n (-x^{-1})_n}{(-q; q^2)_{n+1}} = \frac{1}{(-q; q^2)_{\infty} (q)_{\infty}} f_{4,2,1}(q^4, -xq^2, q). \quad (1.13)$$

In 2006, Hikami [10] introduced the second order mock theta functions and gave a transformation formula in [11] as follows.

$$D_5(q) = \sum_{n=0}^{\infty} \frac{(-q)_n q^n}{(q; q^2)_{n+1}} = \frac{1}{(q; q^2)_{\infty}^2} \sum_{n=0}^{\infty} (q; q^2)_n^2 q^{2n}. \quad (1.14)$$

Letting $q \rightarrow q^2$ and $x = -q^{-1}$ in (1.12), we establish the Hecke-type double sums for $D_5(q)$.

Theorem 1.6. *We have*

$$D_5(q) = \frac{1}{j(q; q^2)} f_{3,2,1}(q^6, q^3, q^2).$$

The paper is organized as follows. In Section 2, we first state some lemmas which are used to prove the main results. In Section 3, we prove the main theorems.

2. Preparations

In this section, we recall some definitions and known results to prove our theorems.

The pair of sequences (α_n, β_n) is called a Bailey pair relative to (a, q) if

$$\beta_n = \sum_{r=0}^n \frac{\alpha_r}{(q)_{n-r} (aq)_{n+r}}.$$

Lemma 2.1. [2, Lemma 3] *The (α_n, β_n) is a Bailey pair relative to $(1, q)$, where*

$$\begin{aligned} \alpha_n &= \begin{cases} 1, & n = 0, \\ q^{\binom{n}{2}} (x^n q^n + x^{-n}), & n \geq 1. \end{cases} \\ \beta_n &= \frac{(-xq)_n (-x^{-1})_n}{(q)_{2n}}. \end{aligned} \quad (2.1)$$

Lemma 2.2. [12, Theorem 1.1 (parts 1,5,6,12), Corollary 1.3 (parts 1,2)]

1. *If (α_n, β_n) is a Bailey pair relative to (a, q) , then*

$$\sum_{n \geq 0} q^n \beta_n = \frac{1}{(aq, q)_{\infty}} \sum_{r, n \geq 0} (-a)^n q^{\binom{n+1}{2} + (2n+1)r} \alpha_r. \quad (2.2)$$

2. *If (α_n, β_n) is a Bailey pair relative to (a, q) , then*

$$\sum_{n \geq 0} (aq; q^2)_n q^n \beta_n = \frac{1}{(aq^2; q^2)_{\infty} (q)_{\infty}} \sum_{r, n \geq 0} (-a)^n q^{n^2 + 2rn + r + n} \alpha_r. \quad (2.3)$$

3. *If (α_n, β_n) is a Bailey pair relative to (a^2, q) , then*

$$\sum_{n \geq 0} \frac{(a^2 q)_{2n} q^n}{(aq)_n} \beta_n = \frac{1}{(aq, q)_{\infty}} \sum_{r, n \geq 0} a^{3n} q^{3n^2 + 2n + 3rn + r} (1 - aq^{2n+r+1}) \alpha_r. \quad (2.4)$$

4.If (α_n, β_n) is a Bailey pair relative to (a, q) , then

$$\sum_{n \geq 0} (aq^2; q^2)_n q^n \beta_n = \frac{1}{(aq; q^2)_\infty (q)_\infty (1+q)} \sum_{r, n \geq 0} (-a)^n q^{n^2+2rn+r} (1+q^{2n+1}) \alpha_r. \quad (2.5)$$

5.If (α_n, β_n) is a Bailey pair relative to (a, q) , then

$$\sum_{n \geq 0} (aq)_{2n} q^n \beta_n = \frac{1}{(q)_\infty} \sum_{r, n \geq 0} (-a)^n q^{3n(n+1)/2+(2n+1)r} \alpha_r. \quad (2.6)$$

6.If (α_n, β_n) is a Bailey pair relative to (a, q) , then

$$\sum_{n \geq 0} \frac{(aq)_{2n} q^n}{(-aq; q^2)_{n+1}} \beta_n = \frac{1}{(-aq; q^2)_\infty (q)_\infty} \sum_{r, n \geq 0} (-a)^n q^{2n^2+2n+2rn+r} \alpha_r. \quad (2.7)$$

In fact, there exist rich relationships between the Appell-Lerch sums and the Hecke-type double sums. They were stated as follows.

Theorem 2.3. *Let a, b, c be positive integers with $ac < b^2$ and b divisible by a, c . Then*

$$f_{a,b,c}(x, y, q) = h_{a,b,c}(x, y, q, -1, -1) - \frac{1}{\bar{J}_{0,b^2/a-c} \bar{J}_{0,b^2/c-a}} \cdot \theta_{a,b,c}(x, y, q),$$

where

$$\begin{aligned} h_{a,b,c}(x, y, q, z_1, z_0) := & j(x; q^a) m(-q^{a(\frac{b/a+1}{2}-c)} (-y) (-x)^{-b/a}, q^{b^2/a-c}, z_1) \\ & + j(y; q^c) m(-q^{c(\frac{b/c+1}{2}-a)} (-x) (-y)^{-b/c}, q^{b^2/c-a}, z_0) \end{aligned}$$

and

$$\begin{aligned} \theta_{a,b,c}(x, y, q) := & \sum_{d=0}^{b/c-1} \sum_{e=0}^{b/a-1} \sum_{f=0}^{b/a-1} q^{(b^2/a-c)(\frac{d+1}{2})+(b^2/c-a)(\frac{e+f+1}{2})+a(\frac{f}{2})} j(q^{(b^2/a-c)(d+1)+bf} y; q^{b^2/a}) \times \\ & (-x)^f j(q^{b(b^2/(ac)-1)(e+f+1)-(b^2/a-c)(d+1)+b^3(b-a)/(2a^2c)} (-x)^{b/a} y^{-1}; q^{(b^2/a)(b^2/(ac)-1)}) \times \\ & \frac{J_{b(b^2/(ac)-1)}^3 j(q^{(b^2/c-a)(e+1)+(b^2/a-c)(d+1)-c(\frac{b/c}{2})-a(\frac{b/a}{2})} (-x)^{1-b/a} (-y)^{1-b/c}; q^{b(b^2/(ac)-1)})}{j(q^{(b^2/c-a)(e+1)-c(\frac{b/c}{2})} (-x) (-y)^{-b/c}, q^{(b^2/a-c)(d+1)-a(\frac{b/a}{2})} (-x)^{-b/a} (-y); q^{b(b^2/(ac)-1)})}. \end{aligned}$$

Lemma 2.4. [9, (1.7)] *We have*

$$\begin{aligned} f_{1,2,1}(x, y, q) = & j(x; q) m(q^2 y/x^2, q^3, -1) + j(y; q) m(q^2 x/y^2, q^3, -1) \\ & - \frac{y J_3^3 j(-x/y; q) j(q^2 xy; q^3)}{\bar{J}_{0,3} j(-qy^2/x, -qx^2/y; q^3)}. \end{aligned} \quad (2.8)$$

3. Proofs of the Main Results

In this section, we mainly prove the results by the Bailey pairs, the properties for the Hecke-type double sums and Appell-Lerch sums.

Proof of Theorem 1.3. Substituting the Bailey pair (2.1) into (2.2) with $a = 1$, we deduce

$$\begin{aligned}
& \sum_{n=0}^{\infty} \frac{q^n(-xq)_n(-x^{-1})_n}{(q)_{2n}} \\
&= \frac{1}{J_1^2} \left(\sum_{r \geq 1, n \geq 0} (-1)^n q^{\binom{n+1}{2} + (2n+1)r + \binom{r}{2}} (x^r q^r + x^{-r}) + \sum_{n \geq 0} (-1)^n q^{\binom{n+1}{2}} \right) \\
&= \frac{1}{J_1^2} \left(\sum_{r, n \geq 0} (-1)^n q^{\binom{n+1}{2} + (2n+2)r + \binom{r}{2}} x^r + \sum_{r \geq 1, n \geq 0} (-1)^n q^{\binom{n+1}{2} + (2n+1)r + \binom{r}{2}} x^{-r} \right) \\
&= \frac{1}{J_1^2} \left(\sum_{r, n \geq 0} (-1)^n q^{\binom{n}{2} + 2nr + \binom{r}{2} + n + 2r} x^r \right. \\
&\quad \left. + \sum_{r, n \leq -1} (-1)^{-n-1} q^{\binom{-n}{2} + (-2n-1)(-r) + \binom{-r}{2}} x^r \right) \\
&= \frac{1}{J_1^2} \left(\sum_{r, n \geq 0} - \sum_{r, n \leq -1} \right) (-1)^n q^{\binom{n}{2} + 2nr + \binom{r}{2} + n + 2r} x^r \\
&= \frac{1}{J_1^2} \left(\sum_{r, n \geq 0} - \sum_{r, n \leq -1} \right) (-1)^{n+r} q^{\binom{n}{2} + 2nr + \binom{r}{2}} q^n (-xq^2)^r \\
&= \frac{1}{J_1^2} f_{1,2,1}(q, -xq^2, q).
\end{aligned}$$

Applying (2.8), we have

$$f_{1,2,1}(q, -xq^2, q) = j(-xq^2; q)m(x^{-2}q^{-1}, q^3, -1) - \frac{qJ_3^3 j(xq; q)j(-xq^5; q^3)}{\bar{J}_{0,3} j(x^{-1}q, -x^2q^4; q^3)},$$

which implies (1.6).

For (1.7), substituting the Bailey pair (2.1) into (2.3) with $a = 1$, we have

$$\begin{aligned}
& \sum_{n=0}^{\infty} \frac{q^n(-xq)_n(-x^{-1})_n}{(q^2; q^2)_n} \\
&= \frac{1}{J_1 J_2} \left(\sum_{r \geq 1, n \geq 0} (-1)^n q^{n^2 + 2rn + r + n + \binom{r}{2}} (x^r q^r + x^{-r}) + \sum_{n \geq 0} (-1)^n q^{n^2 + n} \right) \\
&= \frac{1}{J_1 J_2} \left(\sum_{r, n \geq 0} (-1)^n q^{n^2 + 2rn + 2r + n + \binom{r}{2}} x^r + \sum_{r \geq 1, n \geq 0} (-1)^n q^{n^2 + 2rn + r + n + \binom{r}{2}} x^{-r} \right) \\
&= \frac{1}{J_1 J_2} \left(\sum_{r, n \geq 0} (-1)^n q^{n^2 + 2rn + 2r + n + \binom{r}{2}} x^r \right. \\
&\quad \left. + \sum_{r, n \geq 1} (-1)^{n-1} q^{(n-1)^2 + 2r(n-1) + r + (n-1) + \binom{r}{2}} x^{-r} \right)
\end{aligned}$$

$$\begin{aligned}
 &= \frac{1}{J_1 J_2} \left(\sum_{r, n \geq 0} (-1)^n q^{n^2 + 2rn + \binom{r}{2} + n + 2r} x^r \right. \\
 &\quad \left. + \sum_{r, n \leq -1} (-1)^{-n-1} q^{n^2 + 2rn + \binom{r}{2} + n + 2r} x^r \right) \\
 &= \frac{1}{J_1 J_2} \left(\sum_{r, n \geq 0} - \sum_{r, n \leq -1} \right) (-1)^{n+r} q^{2\binom{n}{2} + 2rn + \binom{r}{2}} q^{2n} (-xq^2)^r \\
 &= \frac{1}{J_1 J_2} f_{2,2,1}(q^2, -xq^2, q).
 \end{aligned}$$

Based on Theorem 2.3, we have

$$\begin{aligned}
 f_{2,2,1}(q^2, -xq^2, q) &= h_{2,2,1}(q^2, -xq^2, q, -1, -1) - \frac{1}{\bar{J}_{0,1} \bar{J}_{0,2}} \theta_{2,2,1}(q^2, -xq^2, q) \\
 &= j(-xq^2; q) m(1/(x^2 q), q^2, -1) - \frac{J_2^3}{\bar{J}_{0,1} \bar{J}_{0,2}} \times \\
 &\quad \left(\frac{j(-xq^3, xq, x^{-1}; q^2)}{j(-x^{-2}q^{-1}, -xq; q^2)} + \frac{qj(-xq^4, x^{-1}, x^{-1}q; q^2)}{j(-x^{-2}q^{-1}, -xq^2; q^2)} \right) \\
 &= j(-xq^2; q) m(1/(x^2 q), q^2, -1) - \frac{J_2^3}{\bar{J}_{0,1} \bar{J}_{0,2}} \times \\
 &\quad \frac{j(x^{-1}q, x^{-1}; q^2) (j(-xq^3, -xq^2; q^2) + qj(-xq^4, -xq; q^2))}{j(-x^2q^3, -xq, -xq^2; q^2)}.
 \end{aligned} \tag{3.1}$$

On the other hand, we have

$$\begin{aligned}
 j(-xq; q^2) &= xqj(-xq^3; q^2), \\
 j(-xq^4; q^2) &= \frac{1}{xq^2} j(-xq^2; q^2).
 \end{aligned}$$

Combining (3.1) and the above identities, we arrive at

$$\begin{aligned}
 f_{2,2,1}(q^2, -xq^2, q) &= j(-xq^2; q) m(1/(x^2 q), q^2, -1) - \frac{J_2^3}{\bar{J}_{0,1} \bar{J}_{0,2}} \times \\
 &\quad \frac{2j(x^{-1}q, x^{-1}; q^2) j(-xq^3, -xq^2; q^2)}{j(-x^2q^3, -xq, -xq^2; q^2)} \\
 &= j(-xq^2; q) m(1/(x^2 q), q^2, -1) - \frac{J_2^3}{\bar{J}_{0,1} \bar{J}_{0,2}} \frac{2j(xq, xq^2; q^2)}{xqj(-x^2q^3; q^2)},
 \end{aligned}$$

which yields (1.7). $\square$

Proof of Theorem 1.4. Based on (1.6), we have

$$\begin{aligned}
 R_1(q^{-1}, q) &= 2 \frac{\bar{J}_1^2}{J_1} m(q, q^3, -1), \\
 R_1(q^{-2}, q^2) &= 2 \frac{\bar{J}_2^2}{J_2} m(q^2, q^6, -1).
 \end{aligned}$$

Combining (1.8) and (1.9) with the above identities, we arrive at Theorem 1.4 by simplifying. This completes the proof. $\square$

Proof of Theorem 1.5. Substituting the Bailey pair (2.1) into (2.4) with $a = 1$, we have

$$\begin{aligned}
& \sum_{n \geq 0} \frac{q^n (-xq)_n (-x^{-1})_n}{(q)_n} \\
&= \frac{1}{J_1^2} \left(\sum_{r \geq 1, n \geq 0} q^{3n^2+2n+3rn+r} (1 - q^{2n+r+1}) q^{\binom{r}{2}} (x^r q^r + x^{-r}) \right. \\
&\quad \left. + \sum_{n \geq 0} q^{3n^2+2n} (1 - q^{2n+1}) \right) \\
&= \frac{1}{J_1^2} \left(\sum_{r, n \geq 0} q^{3n^2+2n+3rn+2r+\binom{r}{2}} (1 - q^{2n+r+1}) x^r \right. \\
&\quad \left. + \sum_{r, n \geq 1} q^{3n^2+3rn+\binom{r}{2}-4n-2r+1} (1 - q^{2n+r-1}) x^{-r} \right) \\
&= \frac{1}{J_1^2} \left(\sum_{r, n \geq 0} q^{3n^2+3rn+\binom{r}{2}+2n+2r} x^r - \sum_{r, n \geq 0} q^{3n^2+3rn+\binom{r}{2}+4n+3r+1} x^r \right. \\
&\quad \left. - \sum_{r, n \leq -1} q^{3n^2+3rn+\binom{r}{2}+2n+2r} x^r + \sum_{r, n \leq -1} q^{3n^2+3rn+\binom{r}{2}+4n+3r+1} x^r \right) \\
&= \frac{1}{J_1^2} \left(\left(\sum_{r, n \geq 0} - \sum_{r, n \leq -1} \right) (-1)^{n+r} q^{6\binom{n}{2}+3nr+\binom{r}{2}} (-q^5)^n (-xq^2)^r \right. \\
&\quad \left. - q \left(\sum_{r, n \geq 0} - \sum_{r, n \leq -1} \right) (-1)^{n+r} q^{6\binom{n}{2}+3nr+\binom{r}{2}} (-q^7)^n (-xq^3)^r \right) \\
&= \frac{1}{J_1^2} \left(f_{6,3,1}(-q^5, -xq^2, q) - q f_{6,3,1}(-q^7, -xq^3, q) \right),
\end{aligned}$$

which is (1.10).

Substituting the Bailey pair (2.1) into (2.5) with $a = 1$, we get

$$\begin{aligned}
& \sum_{n \geq 0} \frac{q^n (-xq)_n (-x^{-1})_n}{(q; q^2)_n} \\
&= \frac{1}{(q; q^2)_\infty (q)_\infty (1+q)} \times \left(\sum_{r \geq 1, n \geq 0} (-1)^n q^{n^2+2rn+r+\binom{r}{2}} (1 + q^{2n+1}) (x^r q^r + x^{-r}) \right. \\
&\quad \left. + \sum_{n \geq 0} (-1)^n q^{n^2} (1 + q^{2n+1}) \right).
\end{aligned}$$

For the sums of the right-hand side of the above identity, we have

$$\sum_{r \geq 1, n \geq 0} (-1)^n q^{n^2+2rn+r+\binom{r}{2}} (1 + q^{2n+1}) (x^r q^r + x^{-r}) + \sum_{n \geq 0} (-1)^n q^{n^2} (1 + q^{2n+1})$$

$$\begin{aligned}
&= \sum_{r,n \geq 0} (-1)^n q^{n^2+2rn+2r+\binom{r}{2}} (1+q^{2n+1}) x^r \\
&\quad + \sum_{r \geq 1, n \geq 0} (-1)^n q^{n^2+2rn+r+\binom{r}{2}} (1+q^{2n+1}) x^{-r} \\
&= \sum_{r,n \geq 0} (-1)^n q^{n^2+2rn+\binom{r}{2}+2r} (1+q^{2n+1}) x^r \\
&\quad + \sum_{r,n \leq -1} (-1)^{-n-1} q^{n^2+2rn+\binom{r}{2}+2n+2r+1} (1+q^{-2n-1}) x^r \\
&= \left(\sum_{r,n \geq 0} - \sum_{r,n \leq -1} \right) (-1)^{n+r} q^{2\binom{n}{2}+2rn+\binom{r}{2}} q^n (-xq^2)^r \\
&\quad + q \left(\sum_{r,n \geq 0} - \sum_{r,n \leq -1} \right) (-1)^{n+r} q^{2\binom{n}{2}+2rn+\binom{r}{2}} q^{3n} (-xq^2)^r \\
&= f_{2,2,1}(q, -xq^2, q) + q f_{2,2,1}(q^3, -xq^2, q),
\end{aligned}$$

which is (1.11).

Substituting the Bailey pair (2.1) into (2.6) with $a = 1$, we obtain

$$\begin{aligned}
&\sum_{n=0}^{\infty} q^n (-xq)_n (-x^{-1})_n \\
&= \frac{1}{J_1} \left(\sum_{r \geq 1, n \geq 0} (-1)^n q^{3n(n+1)/2+(2n+1)r+\binom{r}{2}} (x^r q^r + x^{-r}) \right. \\
&\quad \left. + \sum_{n \geq 0} (-1)^n q^{3n(n+1)/2} \right) \\
&= \frac{1}{J_1} \left(\sum_{r,n \geq 0} (-1)^n q^{3n(n+1)/2+(2n+2)r+\binom{r}{2}} x^r \right. \\
&\quad \left. + \sum_{r \geq 1, n \geq 0} (-1)^n q^{3n(n+1)/2+(2n+1)r+\binom{r}{2}} x^{-r} \right) \\
&= \frac{1}{J_1} \left(\sum_{r,n \geq 0} (-1)^n q^{\frac{3n^2}{2}+\frac{3n}{2}+2nr+\binom{r}{2}+2r} x^r \right. \\
&\quad \left. + \sum_{r,n \leq -1} (-1)^{-n-1} q^{\frac{3n^2}{2}+\frac{3n}{2}+2nr+\binom{r}{2}+2r} x^r \right) \\
&= \frac{1}{J_1} \left(\sum_{r,n \geq 0} - \sum_{r,n \leq -1} \right) (-1)^{n+r} q^{3\binom{n}{2}+2nr+\binom{r}{2}} q^{3n} (-xq^2)^r \\
&= \frac{1}{J_1} f_{3,2,1}(q^3, -xq^2, q),
\end{aligned}$$

which is (1.12).

Substituting the Bailey pair (2.1) into (2.7) with $a = 1$, we deduce

$$\begin{aligned}
& \sum_{n=0}^{\infty} \frac{q^n (-xq)_n (-x^{-1})_n}{(-q; q^2)_{n+1}} \\
&= \frac{1}{(-q; q^2)_{\infty} (q)_{\infty}} \left(\sum_{r \geq 1, n \geq 0} (-1)^n q^{2n^2 + 2n + 2rn + r + \binom{r}{2}} (x^r q^r + x^{-r}) \right. \\
&\quad \left. + \sum_{n \geq 0} (-1)^n q^{2n^2 + 2n} \right) \\
&= \frac{1}{(-q; q^2)_{\infty} (q)_{\infty}} \left(\sum_{r, n \geq 0} (-1)^n q^{2n^2 + 2nr + \binom{r}{2} + 2n + 2r} x^r \right. \\
&\quad \left. + \sum_{r \geq 1, n \geq 0} (-1)^n q^{2n^2 + 2nr + \binom{r}{2} + 2n + r} x^{-r} \right) \\
&= \frac{1}{(-q; q^2)_{\infty} (q)_{\infty}} \left(\sum_{r, n \geq 0} - \sum_{r, n \leq -1} \right) (-1)^{n+r} q^{4\binom{n}{2} + 2nr + \binom{r}{2}} q^{4n} (-xq^2)^r \\
&= \frac{1}{(-q; q^2)_{\infty} (q)_{\infty}} f_{4,2,1}(q^4, -xq^2, q),
\end{aligned}$$

which is (1.13). This completes the proofs. $\square$

References

- [1] G. E. Andrews, *On the theorems of Watson and Dragonette for Ramanujan's mock theta functions*, Amer. J. Math. **88** (1966), 454–490. Doi: 10.2307/2373202.
- [2] G. E. Andrews, *Bailey chains and generalized Lambert series. I. Four identities of Ramanujan*, Illinois J. Math. **36** (1992), 251–274. Available at <http://projecteuclid.org/euclid.ijm/1255987533>.
- [3] G. E. Andrews and D. Hickerson, *Ramanujan's "lost" notebook. VII. The sixth order mock theta functions*, Adv. Math. **89** (1991), 60–105. Doi: 10.1016/0001-8708(91)90083-J.
- [4] K. Bringmann and K. Ono, *The $f(q)$ mock theta function conjecture and partition ranks*, Invent. Math. **165** (2006), 243–266. Doi: 10.1007/s00222-005-0493-5.
- [5] K. Bringmann and K. Ono, *Dyson's ranks and Maass forms*, Ann. of Math. (2) **171** (2010), 419–449. Doi: 10.4007/annals.2010.171.419.
- [6] G. Gasper and M. Rahman, *Basic hypergeometric series*, second ed., Encyclopedia of Mathematics and its Applications 96, Cambridge University Press, Cambridge, 2004, With a foreword by Richard Askey. Doi: 10.1017/CBO9780511526251.
- [7] N. S. S. Gu and L.-J. Hao, *On some new mock theta functions*, J. Aust. Math. Soc. **107** (2019), 53–66. Doi: 10.1017/s1446788718000368.
- [8] N. S. S. Gu and J. Liu, *Families of multisums as mock theta functions*, Adv. in Appl. Math. **79** (2016), 98–124. Doi: 10.1016/j.aam.2016.04.003.

- [9] D. R. Hickerson and E. T. Mortenson, *Hecke-type double sums, Appell-Lerch sums, and mock theta functions, I*, Proc. Lond. Math. Soc. (3) **109** (2014), 382–422. Doi: 10.1112/plms/pdu007.
- [10] K. Hikami, *Mock (false) theta functions as quantum invariants*, Regul. Chaotic Dyn. **10** (2005), 509–530. Doi: 10.1070/RD2005v010n04ABEH000328.
- [11] K. Hikami, *Transformation formula of the “second” order Mock theta function*, Lett. Math. Phys. **75** (2006), 93–98. Doi: 10.1007/s11005-005-0039-1.
- [12] J. Lovejoy, *Ramanujan-type partial theta identities and conjugate Bailey pairs*, Ramanujan J. **29** (2012), 51–67. Doi: 10.1007/s11139-011-9356-4.
- [13] J. Lovejoy, *Bailey pairs and indefinite quadratic forms*, J. Math. Anal. Appl. **410** (2014), 1002–1013. Doi: 10.1016/j.jmaa.2013.09.009.
- [14] J. Lovejoy and R. Osburn, *The Bailey chain and mock theta functions*, Adv. Math. **238** (2013), 442–458. Doi: 10.1016/j.aim.2013.02.005.
- [15] J. Lovejoy and R. Osburn, *q -hypergeometric double sums as mock theta functions*, Pacific J. Math. **264** (2013), 151–162. Doi: 10.2140/pjm.2013.264.151.
- [16] J. Lovejoy and R. Osburn, *Mock theta double sums*, Glasg. Math. J. **59** (2017), 323–348. Doi: 10.1017/S0017089516000197.
- [17] G. N. Watson, *The Final Problem : An Account of the Mock Theta Functions*, J. London Math. Soc. **11** (1936), 55–80. Doi: 10.1112/jlms/s1-11.1.55.
- [18] G. N. Watson, *The Mock Theta Functions (2)*, Proc. London Math. Soc. (2) **42** (1936), 274–304. Doi: 10.1112/plms/s2-42.1.274.
- [19] Z. Zhang and X. Li, *Mock theta functions in terms of q -hypergeometric double sums*, Int. J. Number Theory **14** (2018), 1715–1728. Doi: 10.1142/S1793042118501051.
- [20] S. Zwegers, *Mock Theta Functions*, Ph.D. thesis, Utrecht University, 2002.

Li-Jun Hao Zhejiang Sci-Tech University, School of Science, Hangzhou 310018, P.R. China haolijun152@163.com	Liang-Liang Xu Zhejiang Sci-Tech University, School of Science, Hangzhou 310018, P.R. China liangliang_xu@163.com
--	--